CHRH FCHI
SCHOLASTIC APTITUDE TEST (MARATHI) NMMS-VIII-S1  E3

24
R

IFC RS RS XS XS IR TR RS KR XS X I H
L8\ 8. 8 L4 4 \.8..8..8..4 .4 .4 4.4

NATIONAL MEANS CUM MERIT SCHOLARSHIP SCHEME EXAMINATION, 2022-23

T TR qaet Uedh fareneaiarst freagt ae T ader 203233

5-'

CENTRE CODE ¢ Hehdih A

FC S S 4FC XS A A T A
b 4L 302 3L T4 302 3L T4 3
3% 3% 3% . 2% 3% 2% 3% 3%

b
4
A

SEAT NO. 318 ShHTH

QUESTION BOOKLET

TYAY edehl

SCHOLASTIC APTITUDE TEST
IMAT STHAT AT

CLASS VIII /53wt ¢ &t
MEDIUM : MARATHI (¥T38t) WITH ENGLISH VERSION

[DATE : 21 December, 2022]

[faries: 3¢ Rd=R, 2037
[Time : 01:30 P.M. to 03:00 P.M.]
[965 : 09:30 P.M. @ 03:00 P.M.]

Maximum Marks : 90

TRUT T[0T : R0
Time : 90 Minutes
A : 0 Tufe Total Pages : 48
TRUT UM : ¢

NMMS-SAT-22-23 | VI | St |




B 3l S S SAb S b S
FC I X HIX HC HIX X HIX
b 82 X 382 XL S b S

gdgmefeTst Tt
AT I SUATYET YSTe o1 RIS gereh ardr.

9. I ACHUIERE Tad hredd ITUBORT WTd AToidl 3R, I ATl I
igaTdid. Ter= do GICATHM & Shrercd Jd He3 IATALIhUR[T dTedl shed e

o ¢ o
[HenlcdlYdd T he A e SdTdl.

2. QHTT ohg Hehdlsh MM ITEH hHTh YeHGeh=al @SR fooiean fafga fosmrmof

Feauuul fofgra. (TshT <ieheld Ueha 37eh ATIHTY) Tod:<l EH ShuTeh foTguamgd]
JANIATTER A SR STHCATH] @TH] hed SATdl. hIdTe! W1 e TEUR T8l AT

[ LIRZICTR
IS :
CENTRE CODE ©he HehdTeh 2120 |R

SEATNO. 3TEAhATR [ M| 3 [ 3[R [ [3|2|2lo|R[2][3]3

3. TEEIEN IR ARG Mo &HdT ==l (Scholastic Aptitude Test) <= STAfHI
TesTett 2R It @rEl e

Y. Het owamEndl R0 YA SATEd. T SRATAT U U7 TR,
G, Td Y GISfau STEvEe TR,

§&. Tcdeh TS SAUHTS! TeYfEaehHed IR T fool oT1ed. <mdeh! qraTall I d1ed
o YT ShHTeh 98§ A1 ShHIhTE ddes hloodl fehdl el sieiu Tl It
e, | g M JHTAT STWHhaR AT J¥YE hUaIT 38 TYfEdehal ATal.

.  UfEedT STRATITED GEATd hed UM Uk Yo Aigdid Iaeddd T Higardd.

¢. TETE T 3T Ad T8 T AT S 9ed JTeiq el Jed T9H disfauarg =,
Y T ST HIATSR Aed dedld U Teded TRATaR qreTell gl T ohidl

R. U drsfavamardt graten freurn de fommra g e SIdld S SIiTeaTIshR

N [N o N [N o N o N
w h{l. bd <h[H FRAUHAhT Hcdeh YBTAL TgetedT ThTHIT <llehcldd <hlld.

20. I YTAYREdehd g Hehdieh, & HHIeh o hod hM NS A=A Flall foTg Tehl.

NMMS-SAT-22-23 | VI | St |




INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before you answer the questions.

l.

10.

Answers are to be bubbled only on the separate carbonless Answer sheet
provided to you. After examination detach the carbonless copy from original
Answer sheet & keep carbonless copy with you till the declaration of result.

Please write your Center Code & Seat No. very clearly (only one digit in one
block) on question paper. Before writing your seat no. ascertain it with Hall
ticket. Please see that no block is left blank or unfilled.

Example :

CENTRECODE |1 [ 1 ]0 {2

SEAT NO. M3 |3(92|3|T1|1T]O0O|2T1]2]3

Please ensure that you have received Scholastic Aptitude Test answer sheet.
Total number of questions are 90 for this paper. All questions carry one mark each.
All questions are compulsory.

For each question there are four options given in question paper. Check for the
correct answer and bubble correct option from four circles given in answer sheet
by Black/Blue pen. Please do not write any answers on question paper.

Start answering from first question one after another till the last question.

If you do not know the answer of any question, do not spend much time on it and
pass on to the next one. If time permits, you can come back to the questions which
you have left in the first instance and try them again.

Utilize the allotted time for solving the questions in best possible way. The rough
work is to be done in the box given under each page.

Do not write anything except Center Code, Seat No. and rough work anywhere in
this booklet
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001.

002.

(A) 3t (A e TaFyehIETd grdl.

(B)  3Trehgehrean I S1eatt FfH g &

(C) faefiumged sriatarfers T 3Tispfaa gidrd.

(D) STatarfehd W=t BT dTged = AIHHE! JTed & Ueh avd arEl i aar g,
(1) C,D,B,A (2) D,C,A,B

(3) B,D,C,A (4) A,C,D,B

Greltd fesmsmmer ‘07 A feemoft agr sTeiedn Thier=n sat Hewia fooiean T 3T=e® T

(1) AT B Qg T debt &al U I3l
(2) A A et B =31 - SFTEL U Al
(3) A A et B =1 g 39 U 3l
(4) B A el U A AT
003. fogaensh fria @l Ikt w=E FHaeT.
(1) soel=e a87 o fawarshed o fvamss 2.
(2) forgaem=h Teha wr= foun oF favaTerea =0 fawamhe 12,
(3) soiEIEe 5T AU favaTRed O favaTs 2.
(4) lAmpZ%
o] HHEIS! Herd
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001.

002.

003.

In case of birth of stars, arrange the given statements in a proper order and select the correct
option from given alternatives.

(A)  Due to generation of nuclear energy the gas sphere becomes self luminous.
(B)  Due to fusion of atomic nuclei nuclear energy generation starts.
(C)  Due to disturbance cloud start contracting.

(D)  Density of interstellar cloud starts increasing and its temperature also starts to increase
and a dense sphere of hot gas is formed.

() C,D,B,A (2) D,C,A,B
3 B,D,CA 4 ACD,B

As shown in the figure given below, an explosion occurs at point ‘O’. Considering sound of
explosion choose the correct option from given alternatives.

(1)  Aand B both hear the sound at same time.
(2) A hears the sound earlier than B.

(3) A hears the sound later than B.

(4) B does not hear the sound at all.

From the given alternatives choose the wrong statement in regards to electric current.
(1)  Electrons flow from positive potential to negative potential.
(2)  Conventional flow of electric current is from positive potential to negative potential.

(3)  Electrons flow from negative potential to positive potential.

4)  1Amp= i—c

Space for Rough Work
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004. A TS wefier ‘B’ A Twwdiel samen /At 9 e a9 fodedn wafEgd s

ESUEIRRIDACEEN
‘A’ T@w (Treft) ‘B’ W (=aTEAn/9)
(i) | 37 Hedisr™ a) | wgrerfeiel TSt i TR ST
(ii) | 37131 SheaH b] %(F-32)
(iii) | 3sorar ] |C+273.15
(v) | qreme d] | vereidier 1A TS Snotel TG SHIT

() ()-d (Gi)-b (i)-c (v)-a
2)  ()-b (i)-c (ii)-a (iv)-d
3) (i1) - (iit) -
@) ()-b (i)-a (i)-d (iv)-c

on
@]

o
o

~
—
~
1
o

(iv) - a

[

005. WTefiet dercTdial Hifaes et MKS 9 CGS Tgdidict Tshehlel Fteror sy, = A g

ECECRCECRRIERECER
et MKS Ugdidicl Usheh CGS UgdrdIct Ueheh
() |=m a] |fepeuim / ue Hiex pl |39 / 59 SR
(ii) | &=hes b] | = Hex ql & / dehe
(iii) | HATHRAH c] |#iex / T r] | =SRE S
(iv) | erman d] |=wE e s] | o S
(1) i-b-p ji-c-q iii -c-r iv-b-s
(2) i-c-q i-d-r iii -b-s iv-a-p
(3) i-a-r ii-a-s iii -a-p iv-c-q
(4)  i-d-s ii-b-p iii -b-q iv-d-r

HoH] HHETS! Ferd
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004. Match the given terms in column A with definitions / formulae given in column B and select

the correct option from given alternatives.

Column A Column B (Definitions / Formulae)
(i) | Degree Celsius a] | Total kinetic energy of the atoms in a substance
(ii) | Degree Fahrenheit bl | 3 (F-32)
(ii1) | Heat c] |C+273.15
(iv) | Temperature d] | Average kinetic energy of the atoms in a substance
(1) (@G)-d (@()-b (i)-c (iv)-a
2) (@G)-b (i)-c (i)-a (iv)-d
3 (@{)-c (i)-d (i)-b (iv)-a
4 ()-a (i)-a (i)-d (v)-c

005. Given table contains physical quantities with their MKS and CGS units. Observe them, match
them and choose the correct alternative.

Physical quantity MKS system of units CGS system of units
(1) | Speed a] | Kilogram/Meter cube p] | Gram/Meter cube
(i1) | Area b] | Meter cube q] | Centimetre/Second
(ii1) | Volume c] | Meter/Second r] | Centimetre square
(iv) | Density d] |Meter square s] | Centimetre cube

(1) i-b-p ii-c-q iii-c-r iv-b-s

(2 i-c-q 1ii-d-r iii-b-s iv-a-p

3 1i-a-r ii-a-s 1ii-a-p 1v-c-q

(4 i-d-s ii-b-p iii-b-q iv-d-r

Space for Rough Work
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006. Y ‘A’ 7efil ST S Y B’ 9y Eifad IR, TSRS A=Al SR IHAA g9y

M@ 9 feoiesn watTd I v faer.
I (FA9 A) HT (Y B)
(i) |oe= a] | TR
(ii) |oTHE ST b] | TN foR[d I €9 TR 7 T hal.
(iii) | ST Shepfor c] |3fagElel & AHeRT .
. . AR T fUaean T U= greeiiehs
(iv) | srrhet B0 U | o i v 3 "
(1) ()-c (i)-d (i)-a (@v)-b
2) ()-a (i)-b (i)-d (@v)-c

3 @®-b (i)-
4 @-d (i)-

[

(iii)-c¢  (iv)-b

o

(iii)-b  (iv)-a

007. Wil 3Tkt e oo qoTars fawi=n I gt .

(1) I(BE) (2) I(CE)
(3) I(DG) (4) I(ED)
HoA] hMEETS! Berd
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006. Work of scientists mentioned in Column A is given in Column B. Identify the relation between

scientists and their work and choose the corrective alternative from those given below.

Column (A) Scientist Column (B) Work
(1) | Thales a] | Magnetic lines of force.
(i1) | Thomas Browne b] | Showed that lightening is form of electric charge.
(iii) | Benjamin Franklin c] | Coined the term electricity.
(iv) | Michael Faraday d] flft:lt?et foelellt\};zrslfet;r?;:)iciicjto yellow coloured amber
(1) (@{@-c¢ (@G)-d (@i)-a (@{v)-b
2) (@(G)-a (@()-b (i)-d (@(v)-c
3 (@-b (@(i)-a (@i)-c ({v)-b
4 (@{@-d (@(i)-c @i)-b (iv)-a

007. Observe the following figure and choose the correct option related to wavelength.

) F
()  I(BE) (2) I(CE)
3)  (DG) (4) [(ED

Space for Rough Work
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008. oA &9 'A' 9 &9 'B' = Fieror svu amfor T sau=n vt feer.

Y A’ Y ‘B’
P| | et T A] | e sl e
Q] |eaiads® B] |atdqet s
R] | Sera C] |weEm= swu
S] | rgshrer D] | g=a TawTdte o
(), P-C Q-B R-A S-D
2) P-D Q-A R-C S-B
3 P-A Q-D R-B S-C
4 P-B Q-C R-D S-A
009. TGN JEIER THIET 3Tfeh ool Tad ST a1 TEqal BIOTRT IROMH & 3TEd.
(1) g frodes Temges (2) I
(3) = (4) ==

010. Iffa wWadTEad= g faum / arffe faer.
(1) Afafia gwedd wedre g 9Tee A e,

(2)  ITYAA SHIATe HY YA DT 3k T
(3) i=r=#r#r= .
(4) R e TS JEHTTEEA .

011. HfTErhy o= Gefia h Fehi faam steE.
(1) = 3mE Gepivlt ToeuTd 3mdr.

(2) T STRET GEAT AR 45° Hore 3Tl

(3) A gehedTeAl STHET JioHT dUR BdaTd.

(4)  ITET 3TN ATATEAT TEHT INYTATETS! AT,

HoH] HHETS! Ferd
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008.

009.

010.

011.

Observe column ‘A’ and column ‘B’ and select the correct option of answers.

Column ‘A’ Column ‘B’
P] | Human Larynx A] | Vibrations of metal arms
Q] | Loud speaker B] | Vibrations in vocal cords
R] | Jal-Tarang C] | Vibrations of screen
S] | Tuning fork D] | Vibrations in air column

(), P-C Q-B R-A S-D

2) P-D Q-A R-C S-B
3) P-A Q-D R-B S-C
4 P-B Q-C R-D S-A

If more than one force are acting on a body, then the effect on the body is
(1)  Due to net force (2) Zero
(3)  Negative (4) Positive

Find the correct statement / equation regarding irregular reflection.
(1)  Laws of reflection are not followed in irregular reflection.
(2)  Angle of incident is not equal to angle of reflection.

3) i=r#Er#En=

(4)  TIrregular reflection takes place at smooth surface.

Find false statement related to Kaleidoscope.

(1)  Three mirrors are used in triangular shape.

(2)  Each mirror is fitted with other mirror in 45°.

(3)  Innumerable images of the glass pieces are formed.

(4)  Itisused to find various designs.

Space for Rough Work
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012.

013.

014.

015.

016.

017.

YeeTdehl ShIVIAT T1eeh STUUIITEN =i T HHl HUITETd! e TeU[ araiat Sird e ?

(1) dfdferem (2) UprEe

(3) hefusm (4) @i

FA1 &1 i @ Hesh W] v ?

(1) N,,0,,Ar,H,0, CO, (2) N,,0,,Ar,H0,CO

(3) N,,0,,H ,HO,CO, (4) N,,0,,CO,HO,CO,
gEedehl I faem hord 7

(1) drefrem & 73 orq T, (2) T =71 u1q faega gares .

(3) S A1 YT gV I IATR. (4) fTafasm=h (Li) oar qoamen Sre o1,

B TGk o TRUMTH ATaTed ST SIS v ?

(1) hremeh - FHgEe (2) 7dd fEead HuRd Ugd - el a8
(3) gz - TafcrepitaE et (4) TEH SANFEZE - Gihell, GH AT
JEITUshl 3Tk SAIS! hIvTe ?

(1) Na,CO, - 3gH= (2) CaO - srAErHt

(3)  KCI - 3crEH (4) SO, - FrFAiEH]

Gl SITedieh THRIfeh THRUNdT A 9 B Ugrel 3TshH <hivrd ?
A+ TS TEIREHE — > HTeH SRASTFAES + B

(1) <ifaes 1, Aifsem aree (2) @i ATFA, HfS3™ TS
(3) Eifsem grde, ifdeesh A (4) wfssm |mRde, arfds ma
HoA] hMEETS! Berd
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012. Amongst the following which element is not used as controller to reduce the number of neutrons
in the nuclear reactor?
(1)  Beryllium (2) Graphite
(3) Cadmium (4) Boron
013. Important molecules in a mixture of air are?
(I) N,,0,,Ar,H0O,CO, (2) N,,0,,Ar,HO,CO
3 N,,0,,H,,H0,CO, 4) N,,0,,CO,H,0,CO,
014. Which is the correct statement from the following?
(1)  Potassium is not a soft metal.
(2)  Lead metal is a good conductor of electricity.
(3)  Non-metal Boron has a high melting point.
(4)  Density of Lithium is more than water.
015. Which is the incorrect pair for air pollutant and its effects?
(1)  Pesticides - Mental weakness (2) Particular matter - Irritation of eyes
(3)  Dust - Silicosis (4)  Sulphur dioxide - Cough, Breath
016. Which is the correct pair from the following?
(1)  Na,CO, - Neutral (2) CaO - Acidic
(3) KCI - Neutral (4) SO, - Alkaline
017.  Write the products A and B respectively in the following word chemical equation?
A + Sodiumbicarbonate —— Carbondioxide + B
(1)  Lactic Acid , Sodium Citrate (2) Citric Acid , Sodium Citrate
(3)  Sodium Citrate , Lactic Acid (4) Sodium Citrate , Citric Acid
Space for Rough Work
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018. TSN IUHLU TAR HIUATHTS! JSIeTdeh! Toifeeshal hiurdl JehR TIRATd ?
(1)  orefsnfoef (2) dicfreers
(3)  iefigtem (4) diefizees
019. Y& T W foeieht oMmad. wmieh! Shivid LE T8l ?
(1)  NaH (2) NH,
(3) FesS (4) €0,
020. 3Ty AWM YL U2 ATSTUITETS! d ITTes HIUITATS! IVl IgEd=l IT=T
el ST 7
(1)  TSehge Yot Hged (2) 3Faehgl TgHa
(3) foerfiertor uged (4) 3SeduTad
021.  ZAYEHHTA HIUd TG T Sraraicl =107 gL hidTd ?
(1) & vethe, Hfovem, SESNH, Bk
(2) Ffem vethe, TEIH, TESNH, BHe
(3) oifesm HEtie, Hiovem, TEEsH, iche
(4) Ffwem weie, Heusm, THESH, Bieke
022. WTCAcTIeh! ST JAZEAT T HIAT aTel TTST QUATETS! Shedl ATl ?
(1) (2) wiEe
(3) e (4) drefrem
o1 HIHHTS! Herd

NMMS-SAT-22-23 | VI | St |




018. Which type of plastic is used to make laboratory appliances?
(1)  Polypropylene (2) Polystyrene
(3)  Polyurethane (4) Polyester
019. Molecular formulas of compounds are given, which is not the molecular formula from the
given?
(1) NaH (2) NH,
(3) FeS 4 CQO,
020. Which method is used to identify and separate components of a mixture in a pharmaceutical
science?
(1)  Method of chromatography (2) Method of centrifugation
(3)  Method of separation (4) Distillation
021. Which ingredient in toothpaste removes dirt from teeth?
(1)  Calcium Sulphate, Calcium, Hydrogen, Phosphate
(2)  Calcium Sulphate, Fluorine, Hydrogen, Phosphate
(3)  Sodium Carbonate, Calcium, Hydrogen, Phosphate
(4)  Calcium Carbonate, Calcium, Hydrogen, Phosphate
022. Which metal oxide is mixed with glass to give red colour to the glass?
(1)  Copper (2) TIron
(3)  Manganese (4) Potassium
Space for Rough Work
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023. HERSGT=T 3R & HIIShIHICE Y& T8 3Tl
(1) 10 (2) 100
(3) 1000 (4) 50

024. Wil Seameia fagma L Tiear.

H T
1) STSTS - TR e
2) ST - Tohepueht areadt
3) TEHA - HESIdl el
4) &7 B SIS CIRCELS Kl

025. TIfeEeT Feldial Hsiia STl

(1) wfefesm (2) eElceatad
(3) fobua (4) wEmshsh

026. Wrefiedeh! 3T fau™ 3fesaEr.
(1) AfEmel JaeTEd! SgHITE STEAT.
(2) I T e TR,
(3) TemgeRid Higssh I eI 9regd Bl
(4) Ty wsfia fsfaren Hored s1med.

027. v WAt FeMmEet S aErEn 9T shell STl
(1) hehar (2) BERM
(3) ueH (4) TamE W

HoH] HHETS! Ferd
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023. Size of microorganisms is smaller than micrometers.
() 10 (2) 100
(3) 1000 4) 50
024. Find the odd pair from the following.
A B
1) Loranthus - Autotrophic plant
2) Drosera - Insectivorous plant
3) Lichen - Symbiotic plant
4) Mushroom - Saprophytic plant
025. Identify living being in Protista Kingdom.
(1)  Clostridium (2) Volvox
(3) Baker’s Yeast (4) Vibrio
026. Identify incorrect statement from the following.
(1)  Amoeba has pseudopodia for locomotion.
(2)  Euglena is a heterotrophic fungus.
(3)  Tobacco Mosaic disease is caused by virus.
(4)  Viruses are at the edge of living and non-living.
027. Biopsy technique is used for detection of which disease?
(1)  Cancer (2) Heart Disease
(3) AIDS (4) Swine Flu
Space for Rough Work
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B 3l S S SAb S b S
FC I X HIX HC HIX X HIX
b 82 X 382 XL S b S

028. T IHAR YEfCHSHE T AR, 5 @9 aTeul fehdT shHt EI0 Shivred =N A&T0l 3TTed.

(1)  =ehtm (2) wswm

(3) wydE (4) B
029. SISl TTEATH TATTUI ST IR,

(1) o 9t 31m (2) = aIfia 3

(3) s afta s (4) 3 effa 37

030.  HIUTCAT TIESATS LA =T WRTHT figest T1 ITea gl ?
(1)  heenfee (2) A
(3)  sf-ewmEfe (4) wftdgea

031. WA 1 SO YA 3FTh 3@,
A - UefiaR gl Shum=a fSaTo] 9 forsTof=m T sl
B - S0 9 U USftaiireh et 2Tehul.
C - =1 9 @ Usfi= g= o,
(1) et % (2) FdgeISITITehT
(3) dgefurht (4) =RITRT

032. H#M< IXRNE 9 fFEaam= shrl SRl geeh 3TeE.

(1) (2) =R
(3)  STdgeASTieTehT (4) Tt &
ol HETETS! Bad
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028. Frequent urination at night, increased obesity or weight loss these are symptoms of which
disease?
(1)  Cancer (2) AIDS
(3)  Diabetes (4) Heart Disease
029. Fire caused due to electrical components is types of fire.
(1)  Class B fire (2) Class C fire
(3) Class D fire (4) ClassE fire
030. Which pigment imparts yellow colour to the parts of plants?
(1)  Xanthophyll (2) Carotene
(3)  Anthocyanin (4) Chlorophyll
031. Find cell organelles performing specific functions.
A - Destroys viruses and bacteria that attack the cells.
B - To excrete worn out cell organelles.
C - Digestion of old or damaged cells.
(1)  Golgi Complex (2) Endoplasmic Reticulum
(3)  Mitochondria (4) Lysosomes
032. Body temperature is maintained constant by
(1)  Blood (2) Lysosomes
(3)  Endoplasmic Reticulum (4) Golgi Complex
Space for Rough Work
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L L L T T S T

033. W SThdMET W il
(1) A
(3) C
034. TS fogme TSR $3 MR 7
(1) TOIE S (2) AR AT
(3) il S (4) rEfom TedE 3gEE
035. GEESames RIOT=AT WMITE HHe! IR &0 Sh0TR] Feh JTBET.
(1) <ifed st (2) Vo TR
(3) Tdga (4) TFAUEEIhI
036. 3.9.1756 TTeil sTTe=AT FaTeqe! Shivl 3T ?
(1) o sggren (2) R ST
(3) R wrEm (4) 3o I
HoA] hMEETS! Berd
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033. Identify Larynx from the following figure.
(H A 2) B
3 C “4 D
034. Where is the habitat / shelter for Asiatic lion?
(1)  Ranthambore Sanctuary (2) Bharatpur Sanctuary
(3)  Gir forest (4) Kaziranga National Park
035. ldentify the cells which protect human body from microbial disease.
(1)  Red Blood Corpuscles (2)  White Blood Cells
(3) Plasma (4) Platelets
036. Who became the Nawab of Bengal in 1756 AD?
(1)  Siraj-ud-Daulah (2) Mir Jafar
(3) Mir Kasim (4) Shuja-ud-Daulah
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037. YW faged it SfTarard! ol hie JTATST Tt J STTHET IUTTOT Shivfl ohed ?
(1) 9. @ St om (2) <Ten THEg
(3)  wIf¥ag SSi (4) @™ TESH

038. @rciierashl ehia faem whiv ?

) =T S (&A1 99 hel.

2) ATl SRR AT hidihRehl 3T AT faifesr siferspr=amett R el
)

)

JHed aTeh] AT fohTSThIS X TMed! e,
g J18 AT SEEET ATS gIersia aiFe hehdl.

039. HERIYURT &S STTes! hUael 190l Yorqur forier e, g faum sivme 31 ?
(1) 9. 30 (2) wHWE qd

(3) sTHd AR (4) YgadHr SEr

040. 1857 HTCh WHGHTT HIVT=AT Agcar@relt fHeatt 33Td hal ?
(1) wsft s (2) iS5
(3) weTERS W (4) HorRRET

041. @TolTa T AR foral.

(31) WA= HrEE (9) Tgeifen e

(%) fUe=n yrafaw=s S (8) faeran qafdarg e

T

(1) 9, %, T MU s (2) &, A, sAMS

(3) A, a3 R (4) @, 31, M8
o] HHEIS! Herd
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037. Who went on fast unto the death to open the doors of Vithal temple at Pandharpur for Dalits?
(1)  Prof. N. G. Ranga (2) Baba Ramchandra
(3)  Shashipad Banerjee (4) Sane Guruji
038. Identify the wrong statement :
(1)  Chafekar brothers killed Rand.
(2)  Vanchhi Ayyer - a revolutionary, killed a British officer named Ash.
(3)  Prafulla Chaki shot dead Kingsford.
(4)  Rasbihari Bose made daring act of throwing bomb on Voiceroy Lord Hardings.
039. Whosaid the following statement, ‘We will oppose the seperation of Mumbai from Maharashtra
upto our last breath’.
(1) P K. Atre (2) Shankarrao Dev
(3)  Ismat Chugtai (4) Sulatana Johari
040. Under whose leadership, in 1857 the Bhills revolted?
(1)  Umaji Naik (2) Bhagoji Naik
(3) Babasaheb Bhave (4) Kajar Singh
041. Identify the correct option which represents the correct chronological order of given events.
(A)  Sati Prohibition Act (B) Regulating Act
(C)  Pitt’s India Act (D) Widow Remarriage Act
Options :
(1) B,C,A,D 2) C,A,D,B
3) D,AB,C (49) B,A,C,D
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042. ST e qr@feciel] SHed] hivredl st RIS oTRd. W= T 9 foral.
(1) 89 U= T
(2)  SITEE! THTSIT= TATIHT
(3) AU ®i-Je¥ SHHEGET TR
(4) TcINYh GHSTE LTI
043. AT FAWEHE TS 380 9 e Tehil %t fdeiedn shidiehrenr= A1d et
M. A el T1d AT
(1) o g (2) =Rt RreER
(3) i wwe (4) Pa g
044. Pt JSET AR SeTEER mevm= ffew wRTe Rrenesmed @iefiedeh! SHIvTET HHTER
Jegan ?
(1) dfores IR\ (2) wWwe fopem
(3) U3 (4) TS ATHeseA
045.  HeTHT M Sheled TcamETen A Y .
(1) @ IR (4) ITHEHN TBIB
(%) T AW (3) =URUT HAWE
9
(1) 9,3, @ 37 31 (2) B, %, A0S
(3) s, 3, 93 (4) =1, % 3More
ool SHIHTETS! e
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042. Identify the correct option of historical event which is related to the person (social reformer)

shown in the picture.

(1)  Establishment of Paramhans Sabha

(2)  Establishment of Brahmo Samaj

(3)  Advocating gender equality through ‘Shatapatre’
(4)  Establishment of Satya Shodhak Samaj

043. Leaders who lead Solapur Satyagrah and were hanged to death are given below. Identify the

wrong name out of it :
(1)  Mallappa Dhanshetti
(3)  Shrikrishna Sarda

(2) Shankar Shivdare
(4) Qurban Hussain

044. Who among the following is not included in ‘Cabinet Mission’?

(1)  Pethick Lawrence
(3)  A.V.Alexander

(2) Stafford Cripps
(4) Lord Mountbatten

045. Identify the correct option which shows correct chronological order of Satyagrahas lead by

Mahatma Gandhi.

(A)  Kheda Satyagraha
(C) Dandi Yatra
Options :

(1) B,D,CandA

(3) D,A,BandC

(B) Non Cooperation Movement

(D) Champaran Satyagrah

2y D,C,Aand B
4) A,D,CandB
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b 3l XL I b S b
FC HI XX HIX T HIX HIK
b 82 X2 b S S Sl

046.

047.

048.

049.

GTeftet T2 AR gt

(31) O R (9) URTETE SR
(%) ga e o (2) forem A
i

(1) &, 9, % 30s (2) o, %, 31 T e
(3) &, 9, o (4) , 8, F1 A0

HETHT ML T ST TR WIeiicdehl shivd 3fggeest ATal ?
AT, R STE €A,

(1)

(2) AT HOTT e HATNEA hidl.,

(3)  srfEE=a AmTe "o 9 = A= Avfle we <o,
(4) fewn 9 e s = et

PTG IR rarsit HerHT snfeaeaidial sivrd foheat forg wraet o @reft foat
3TRd. e gehran vt fom.,

(1) =EdTe (2) ewTe

(3) Y= (4) @Weom

T feuifere afe fafeen’ 7 Jguaa @refierishl shivf I,
(1) wTE e (2) oS SEE
(3) =mwt fig (4) wEwoft arreTs

050.  TTITes BN XY@ AT IV TR fAfecie! Jqusl AT HHTSS o Hiehideh fowamet
TS hel 3777 ?
(1) R (2) Freemem
(3) @ (4) I
ool SHIHTETS! e
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046. Identify the correct option as per the chronology of events.
(A)  Poona Pact (B) Peshawar Satyagrah
(C)  Second Round Table Conference (D) Cripps Plan
Options :
(1) A,B,CandD (2) B,C,AandD
3) C,B,AandD 4y C,D,Aand B
047. Which one of the following is not an objective of Satyagraha technique brought by Mahatma
Gandhi?
(1)  An unjust person is made aware of truth and justice.
(2)  Bring transformation in the views of a person doing unjust.
(3)  Should never use violence and untruth means.
(4)  To get justice through violence and untruth means.
048. After the annihilation of Afzal Khan, Shivaji Maharaj captured the Adil Shahi forts. Identify
the wrong option of fort not captured by him;
(1)  Vasant Gad (2) Bhudar Gad
(3) Panhala (4) Khelna
049. Who introduced the strategy of war called ‘Safe deposit locker system’?
(1)  Khanderao Dabhade (2) Dhanaji Jadhav
(3) Nemaji Shinde (4) Maharani Tarabai
050. Identify the name of the weekly magzine through which Gopal Hari Deshmukh advocated
social and cultural subjects through Shatapatre?
(1)  Prabhakar (2) Nibandhmala
(3)  Janata (4) Dnyanoday
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051.

052.

053.

054.

SemEeH TEE SATfE T SITad 9 3 F9 Y JUH S0 GHTIE HiSe ST ¢

(1) <irhge (2) T=EE

(3) foumufee (4) worh @l

i AfmHEsT T AR TR 9ee Tl TFFITIET TR SO AT
@ fAfyaa swama s,

(1) 10 (2) 15

(3) 20 (4) 25

HeT$ 3= ~ATATCTd GieAietieh! hIvreaT JSImaTdt ATet ?

(1) "8RS (2) T
(3)  <eU TR gael (4) iemE e 52
WIATAYh! AT AT RHR TSAYTATT Tl ?

(1) faguepre SrREIGHM TR .
(2) fadimesr AfdesE damE.
(3) e FfidETdt steew e
(4) ubmsede gee St

3

4

055. Wikl Shivral fIeg HeRmes 9 TsIREH Srgihs 38 7
(1) @xeo (2) = SaEAT
(3) foram (4) o0 S
o1 HIHHTS! Herd
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051. Bills related to finance are considered as ‘Money Bills’. Which house has right to introduce
and pass money bill?
(1)  Loksabha (2) Rajyasabha
(3)  Vidhan Parishad (4) Sthayee Samittee (praesidium)
052. As per the amendment, the number of ministers in the council should notbe morethan %
of the total number of members in the Loksabha.
() 10 2) 15
3) 20 4) 25
053. Which State or Union Territory is not covered by The Bombay High Court's jurisdiction?
(1)  Maharashtra (2) Goa
(3)  Dadra Nagar Haveli (4) Aandaman Nicobar
054. Identify the right which is not given to the Governor?
(1)  The Right to assent the Bills to convert it into laws.
(2)  The Right to summon the session of the state legislature.
(3)  To issue an ordinance to make the law if need arises.
(4)  To decide the number of members in Council of Ministers.
055. ldentify the subject which deals with both : The Union Government and The State Government.
(1)  Defence (2) Currency
(3)  Education (4) Prison Administration
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056. YR &1 sl f-egieh 318d ?
(1) e ©em (2) WS
(3) fweedem (4) FeregeH

057. WUkl ShIvIAT Teeh ATaqeh Jiadme & el

(1) ugd Uy (2) wEEE
(3) e ATh| (4) Ted wIH

058. el UNETHTE IO A1 SHHH hl STIWIAT I ¢ SRIeK T 3@l

(1) AT —> TEATE —> ARG —> TS
(2) AT — AT —> TEH —> A8
(3) AR — HENE —> AT —> IR
(4) TweRE — gIRd —> AR —> AT

059. YT STSITA BT ShOTHT fsham Feurs .

060. geefialier ST MereidieT I7aTea1 K HITES—AT TR 1ol ?

(1) ¥ d g (2) "R q U
(3) < d fegem (4) fegsa @
HoA] hMEETS! Berd
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056. clouds are indicators of thunder storms.
(1)  Alto-stratus (2) Cumulonimbus
(3)  Nimbostratus (4) Cirrostratus
057. Which of the following is not come under transport land use?
(1)  Petrol Pump (2) Bus Stand
(3) Bank Office (4) Railway Station
058. Identify the correct order of a day which we experience in different stages because of the
Earth’s rotation.
(1)  Sunrise - Midday - Sunset - Midnight
(2)  Sunset - Sunrise - Midnight - Midday
(3) Midday - Midnight - Sunrise - Sunset
(4)  Midnight - Sunset - Midday - Sunrise
059. is the process of converting water into steam or water vapour.
(1) Rain (2) Clouds
(3)  Condensation (4) Evaporation
060. ldentify the correct option which shows the summer season in the northern hemisphere:
(1)  March to September (2) September to March
(3)  June to December (4) December to June
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061. &FYE IXITH Hgcd - [oETd 9™ v ?
(1)  wTifcTeh HehedAT STV et AdTd.
(2) WHE 9 YA HEEEY JIU BT A
(3)  ilifee weeh 9 Uishan Tedel TI9d o Il
(4) QL TIERAT A= AT <dT Al

062. AT - LI T W 5@,

(1) faferpr - fera — firma (2) fafder - smd — fme

(3) Tafae - Fegfafem — e (4) fafaer - dAtrm — I

063. WRAT=! YAV IV TW@AENT JeHR STt SId ?
(1)  82°30" 4fv=m (2) 82°30' @&
(3)  22°30" 9fv=m (4) 22°30' 4@

064. ASITSR IMAYETE HIvCAT HEETIG T8 ?

065. WTcATTUeh! hIUTdT Tesh AThEEAT aerRil ffed aral.

(1) et (2) 77X
(3) (4) TIATR
ol HETETS! Bad
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061. Identify the odd statement which is not related to importance of field visit.
(1)  Geographical concepts can be understood.
(2)  Helps to understand the relationship between man and environment.
(3) It gives first hand experience of geographical factors and processes.
(4) It gives experience of literacy growth.
062. Identify the correct option :
(1)  Silica - Nickel — Sial (2) Silica - Iron — Sial
(3) Silica - Aluminium — Sial (4) Silica - Magnesium — Sial
063. The Indian Standard Time (IST) has been decided according to the longitude.
(1)  82°30"West (2) 82°30'East
(3)  22°30" West (4) 22°30'East
064. From which ocean Labrado current is flowing?
(1)  Pacific (2)  South Atlantic
(3) Hindi (4) North Atlantic
065. Which of the following is not related to population growth?
(1)  Birthrate (2) Death rate
(3) Language (4) Migration
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066. 3@ e Fed I foTgl. Eicfiardeh! SIvTeT TsATd foT Ot |atd Sied 3178 ?
' gEmn  foer WERy sdee e
for Ui - 08¢
(1) orirETe (2) s
(3) weEwy (4) @femm
067. ESHATEL HISAT THIVTG HHHARE STJhardl 3TEd. AT SRV @l
(1) YESHE 9 3US 3TEdl.
(2) vEeHw 9TTa PR TR dgedrd.
(3) vEeHT AT GY @id 3TEdl.
(4) JEHT 9T e aeqdt i 8.
068. WIcAicTdeh! U SNl WY 3@, Tadies YTl J TS
(1) 9um\ - gfeqor mfen (2) =Ees - I AU
(3) S| - 3% (4) 3w - AT
069. TETd T SHUM Hdeh ATAE]. TRIMAET THT ek HUAT Toh o1 ATad.
(1)  reggH™ (2) SFRTHTT
(3) SISO (4) TesrsmmOr
Heedl HHEETS! Herd
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066. Study the graph and identify the state which has highest sex ratio?
1100
1000
900
800
= 700
5 600
5 500
2 400
2 300
g 200
= 0
Haryana Bihar Maharashtra Chattisgarh Kerala
Gender Ratio 2011
(1)  Chhatisgarh (2) Kerala
(3)  Maharashtra (4) Haryana
067. Continental shelf has extensive fishing grounds as this part of ocean floor is favourable for
fishing. Identify the wrong reason which does not go with other favourable conditions :
(1)  This part is shallow.
(2)  Sunlight reaches upto it’s bed.
(3)  This part is very deep.
(4)  Planton grow here.
068. Identify the correct option of Grassland and it continent from given alternatives:
(1)  Pampas - South America (2) Veld - North America
(3)  Downs - Africa (4) Prairies - Australia
069. There are three ways of expressing the scale on a map. Identify the odd man out.
(1)  Verbal scale (2) Numerical scale
(3)  Linear scale (4) Picture scale
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070.

071.

QAT IR — 3Tehe[d hIc3HT & IV &R qRitad ?

(1) A (2)
(3) C

Hiea=aT AThdld {0 [ S I g AR I 1 B BT MR, T Apia fecrean wiigdias
JAThY AT TTAT TN feheft ?

n X
10
) m
400
(1) 8:11 (2) 7:11
(3) 11:7 (4) 7:8
ol HETETS! Bad
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070. Identify the option of the alphabet which indicates area of coal in given map.

Index

© lron

® Manganese
@ Chalkstick

@l Coal

@ Iron-Steel Industry

[3 @ Zaria

/ A ©Asansol
F4
/

:b \L Towards
Seen Kolkatta Port

Suvarnarekha River Sy

(1) A
3 C

071. Inthe adjoining figure, line # intersects line / and m in two distinct points. Find the ratio of the
interior alternate angles using the given information.

N L

10
/ ™
\00
(1) 8:11 2 7:11
3 11:7 4) 7:8
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072. HEd=Al IR G 81 AABC =1 Tecaded 31 S AG = 7/3 318 ® PG : AP = kel ?
A

073. OABCD A= AC = 32 3701 BD? = 18 318 a OABCD &1 shivcdT JehT= SiehiH 378 ?

(1) CHTRYS <iTehi (2) TwgS HHE
(3) wHAH =k (4) HrehH B
074. HEd=A hdd ADCH @ ADCF g G T3ehivl hishlel FHISITER THed BUaETS! STURET

IV TS ITEITH 377 ?

H

C

=
(1) «DHC=ZDFC (2) ZHDC = ZFDC
(3) «N CH=z=dCF (4) <1 DH =T DF

o] HHEIS! Herd
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072. 1n the adjoining figure G is the centroid of AABC. IfAG = 74/3 , then find %

A
G
G
8 P G
(1 2:1 2) 3:1
3) 1:2 4 1:3

073. In OABCD. AC = 32 and BD? = 18. What type of DABCD will be?
(1)  Parallelogram (2) Rhombus
(3)  Trapezium (4) Rectangle

074. Inthe adjacent figure ADCH = ADCEF. Which additional information is needed to show ADCH
and ADCF congruent by A-A-S test?

(1) «£DHC=ZDFC (2) ZHDC=ZFDC
(3) Side CH = Side CF (4) Side DH = Side DF
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075.

076.

077.

078.

079.

Teh! CATTHTh Fe 24,50,000 €9 fohme=n Tefe uTiaen foehall. TATe qremehed fiegd
98,000 ¥9 TATH! B! T AT IeheT X fehe] 7

(1) 4% (2) 2%
(3) 2.5% (4) 3.5%
WA TAUh! Il ST AUNHT HEIT 3778 ?

4 23
(1) = (2) o5
3) 8 (4) s
(100.1)% = forett ?
(1)  10000.01 (2) 10002.01
(3)  10020.01 (4) 10022.01
Fa#

gl D=4 dsgl F= 16 @ D = 1.6 3MEdMT F = ferd1 ?
(1) 100 (2) 256

(3) 10 (4) 2.56

TR agesrEl Bsan 9.1 Tl 3TEd W aderdia St @rel 16.8 T, AR, W T Sfe=
AfeBehgTaTgA STaX fohet ?

(1) 6.5 @, (2) 5.5 @,
(3) 3.5 @, (4) 4.5 @,
ol HETETS! Bad
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075.

076.

077.

078.

079.

Satish sold a flat for Rs. 24,50,000 to Prashant through a broker. Broker received Rs. 98,000
brokerage as total brokerage from both. Find the rate of brokerage.

(H 4% Q) 2%

3)  25% 4 35%

Which of the following is an Irrational number?

O @ &

3 8 @ V5

Find (100.1)?

(1) 10000.01 (2) 10002.01
(3)  10020.01 (4)  10022.01
Fa #

When D=4, F=16. Henceif D=1.6

Find F

(1) 100 (2) 256

3) 10 (4) 256

Radius of a circle is 9.1 cm. Find the distance of the chord from the centre if length of the chord

is 16.8 cm.
(1) 6.5cm (2) 55cm
3) 35cm (4) 45cm
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080.

081.

082.

083.

084.

08sS.

TSI JArad! SATRRAT <ehial 2™ 1,75 Hiet 9 3 3.2 Hit 3/8d @ 1 Trehia fohct forex
qrof Hree ?

(1) 770 (2) 350 (3) 6600 (4) 7700
THYS ARFTAT TehT HuTT= et 30 THY. S AT &hed 240 FEH}, T8 T T b=
il fepet ?

(1) 64 3. (2) 32 Tt (3) 68 Tt (4) 80 .

6/(19683)* = feheft ?

(1) 17 (2) 27 (3) 27.7 (4) 37

2°=32 | X’+2x—15 _ g o
2rx—20  PAx—12 )

(1) 2 (2) 1
(3) (x-3) (4) x+4

(o —4x? + 6x — 1) TSI (x — 1) 4 HFTS! STEAT HATHR J e fehefl 7
YR = x? — 3x + 3 ;9ehl = |

)

2)  WWTRR =x2 + 3x — 3;dTehl =2
) WFITRR = x2 + 3x — 2 ; SThl = 3
)

HTTRR = x> — 3x + 3 ; SThl = 2

T T O S5 : 6 YA 1 Tcdeh HEAT 8 IS hal q T T&I UK 4: 5 Ad a1
TEATIHT WIS TEAT HIU ?

(1) 72 (2) 64 (3) 48 (4) 56

HoH] HHETS! Ferd
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080. The diameter and height of a cylindrical tank is 1.75 m and 3.2 m respectively. How much is
the capacity of the tank in litre?
(1) 770 (2) 350 (3) 6600 (4) 7700
081. Iflength of a diagonal of a rhombus is 30 cm and its area is 240 sq.cm. Find its perimeter.
(1) 64cm (2) 32cm (3) 68cm (4) 80cm
082.  Find /(19683 )
(1 17 2) 27 3) 27.7 4 37
083. . .o 2%—32  xX’+2x—15
Stmplify : PAx—20  PFx-12
(I 2 2 1
3 &-3) 4 &+
084. Divide the polynomial (x* — 4x* + 6x — 1) by the binomial (x — 1). Write the quotient and the
remainder.
(1)  Quotient=x>—-3x+3 Remainder = 1
(2)  Quotient=x>+3x-3 Remainder =2
(3)  Quotient=x>+3x-2 Remainder = 3
(49)  Quotient=x>—-3x+3 Remainder =2
085. The ratio of two numbers is 5 : 6. If 8 is subtracted from each number, then the ratio becomes
4 : 5. Find the bigger number.
(1 72 (2) o4 (3) 48 4) 56
Space for Rough Work
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086. THT M4 TG JeHTd HATfier 20 I9id HTeT shotedl JeheTe! BT WAIAYHTo 318, o AT
e ae fohdt A ?
2,3,4,1,2,3,1,5,4,2
3,1,3,5,4,3,2,2,3,2
(1) 2.57 (2) 2.75 (3) 3.50 (4)  3.70
087. TEFId TgM 3T T&aT e fob o Ta@mey 5 Uesfaet @ @ g&¥an 12, 15, 18 I G
ICR ‘q'l"T\_Fl'lgF'[?
(1) 185 (2) 175 (3) 285 (4) 235
088. HISd=AT ITHAIT foiedT HIATEE A ABC < &%as fehdl ?
A
13 +0
-
B 5 p C
(1) 116 =Y. T (2) 126 =t. THH
(3) 136 =t THh (4) 120 =Y. Uk
089. =z @ = W 12% T 51200 ¥4 GEAT™ 3 9N wshdTe ATl fehelt ?
(1) % 21800 (2) % 21700 (3) 21750 (4) 21710
090. T BRI 6 RAIfag @ 10 a1 &l T =1 year= qe fohdi ?
(1) S (2) 7 (3) 6 (4) 8
SHeedl HHES! B
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086. The number of mathematics projects submitted by a school in last 20 years in maths exhibition

is as follows. Find the mean.

2,3,4,1,2,3,1,5,4,2

3,1,3,5,4,3,2,2,3,2

(1) 257 (2) 2.75 (3) 3.50 (4)

087. Find the smallest number, in which if 5 is added, it is divisible by 12, 15 and 18.
() 185 2) 175 (3) 285 4)

088. Observe the adjacent figure and find the area of AABC.

A
13 20
i
B 5 p C
(1) 116 sq. units (2) 126 sq. units
3) 136 sq. units (4) 120 sq. units

3.70

235

089. Find the compound interest if Rs. 51,200 are invested for 3 years at the rate of 12 % p.c.p.a.

(1) 21800 (2) 21700 (3) 21750 4 21710
090. Find the number of faces if a solid figure has 6 vertices and 10 edges.
(1 35 2 7 (3) 6 “4 38
Space for Rough Work
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